[-What is the output of the following program?

#include <iostream>

_using s-lamespace std; \ \ | \\

Void fnd(ml a, int& b, mt& c)
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Int one, two, three:
one =35;
two = 10;
three = 15;
find(one. two. three);
cout <<one <<", " << two << ". " << three << endl;
find(two, one, thrc,e)
cout <<one << " " << two << ", " << three << endl;
find(three, two, one):
cout << one << ", " << two << ", " << three << endl;
find(two, three, one.)
cout <<one <<" " << twp << ", " << three << endl
e return 0 , il
1
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void find(int a, int& b, int& ¢)
!
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int temp;
c=a-+b;
temp = a;
a=b;
b=2%* temp:

} Y.

/

d/ —
),6 e

;<

Scanned by CamScanner




2-Consider the following C++ code:

sstring strl:
string str2;
char ch;
cin >> strl:
str2 = strl:
cin >> ch:
str2|0] = ch;

cout << str] << " —> " << str2 << endl;

Answer the following questions:
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a. What is the output if the input is Hello J?
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